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$%&'(')*+$,-../00/-123$4/52$,67/3.71$871$9:$;73<.71=$,-../00/-123$*32>-3$(:$
?/11@$AB0-$C32021<+$D2002$EB/12=$*3270F323@$(F071$E7FG2BB=$%3-<6-1-<73H@$E7321$
IB75JB2KL2=$*62$871>/BB2$)2G0@$,63/0$E32C/56=$%3200'1<23C3/02:$
$
M3:$;73<.71$70J2K$<6-02$0-$/15B/12K$<-$3/02$N-3$7$C37H23:$*62$%B2KL2$-N$ABB2L/7152$G70$
325/<2K$/1$F1/0-1:$$*62$.22</1L$G70$<621$-C212K:$
$
M3:$?/11$.->2K$<-$7CC3->2$<62$./1F<20$-N$<62$C32>/-F0$.22</1L:$$M3:$;73<.71$025-1K2K:$$
O1$57BB2K$>-<2=$7BB$>-<2K$/1$N7>-3:$
$
$PQRSTUVVSWXYZ[S\XS]̂ Ẑ_\S\̀ZSaQZ]bcQZQdbSQZ_XQ\S]bS_QZbZV\Z[RSPQRSe]Q\W]VSbẐXV[Z[RS
O1$57BB2K$>-<2=$7BB$>-<2K$/1$N7>-3:$$
$
$

f21237B$A55-F1<$8/0gF302.21<0$ hij=klj:im$$

f21237B$A55-F1<$&252/C<0$ hnj=nok:mp$$

f21237B$A55-F1<$,625J/1L$p:poq$ hkrm=oom:kn$$

,7C/<7B$&2023>2$?F1K$p:ppq$ hkr=ros:np$$

OC237</1L$&2023>2$p:pppq$ hijk=jsr:jo$$

f21237B$MMA$$ hl:ll$$

*-<7B$,625J/1L=$MMA0$ hjrs=ikn:nl$$

A5<$pn$;/L6G7HtI3/KL2$p:ppq$ hpjk=sri:rk$$

A5<$ii$p:poq$ hjo=sss:rm$$

,6/BK321$71K$u-F<6$,625J/1L$p:poq$ hnoo=oij:kl$$

?B--K$M/</L7</-1$p:poq$ hp=som:mj$$

;7v73K-F0$M7<23/7B$A55-F1<$,625J/1L$p:poq$ hpr=iso:jp$$

;F.71$w$,-..F1/<H$(23>/520$,625J/1L$p:poq$ hol=isk:lk$$

x.C3->2.21<$?F1K$,625J/1L$p:poq$ hpr=okk:mp$$

y/zF/K$?F2B0$,625J/1L$p:poq$ hkjr=kii:rn$$

M2K/57B$A00/0<7152$*3710C-3<7</-1$p:poq$ hplm=lok:ll$$

ONN21K23$(FC23>/0/-1$A55-F1<$,625J/1L$p:poq$ hij=lnp:or$$

(<-3.$97<23$O3K/17152$'053-G$ hnl=opp:lm$$

*3710/<$?F1K$A55-F1<$,625J/1L$p:poq$ hmk=irs:sl$$

{1/N-3.$rpp$(F35673L2$:sjq$ hmnj=mrl:kj$$
$
M3:$;73<.71$70J2K$N-3$CFgB/5$5-..21<:$*6232$G70$1-12:$
$
$
$
$
$
$
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